Example 1 Multiply Binomials

Multiply.
a) (x - 3)(2x+ 1) b) (x — 2y)(x — 4y)

Example 2 Multiply a Binomial and a Trinomial
Multiply the following binomial and trinomial.
(x + 2)(2x* — 5x + 1)

Example 3 Perform Operations on Products of Polynomials

Simplify.
a) (x + 1)(5x + 3) + 3(2x + 4)(6x — 2)

b) (3w — 2)(4w + 5) — (w— 7)(2w + 3)

Example 4 Apply Binomial Multiplication

The painting shown is Deep Magenta Square
by Richard Anuszkiewicz. It can be used

to represent binomial multiplication. The
length of the red square in the painting is
unknown. The width of the border around

the square is 30 cm.

a) What polynomial expression represents
the total area of the painting?

b) What is the total area of the painting
if the red square has an area of 3600 cm*?
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